AN

MAFE 1AERMETRE SRHEKFR

T

(B4 FH)

= & #IE | #HIERTDEE WWIEZE &t
— fi% & &t FEE 10,134,977 112,000 10,246,977
ERERRKRER=E 1,905,634 1,905,634
B EnEERRNN &5 217,312 217,312
nTERRKR®S N = 1,080,860 1,080,860
NEY—ERERSE 30,420 30,420
TKRKEFEXRNRE 986,525 986,525
MK RERFINRE 30,227 30,227
w & & 15,358,188 112,000  15470,188




O—Ml=ft FIOBMWETFTHE RAKHE

(Bfr:FH)

i B fHIERTDEE| 4 IE %8 &t HEBEOELAR
1 H i 4,776,386 4,776,386
2 K E 5 49,600 49,600
3 M O F A X & = 2,000 2,000
4 B OB B X £ 10,000 10,000
5 MAZFREMBIXGE 9,000 9,000
6 EAFTEBIXMNE 105,568 105,568
7 WMAHEHEBRIMNE 582,000 582,000
8 BEMHRIAXF= 6,000 6,000
9 M A H X MF & 31,377 31,377
10 #1 A X f B 1 1
11 REREHEEIXTR 3,900 3,900
12 2#EERVEESR 119,540 119,540
13 EFAMRYFHH 52,901 52,901
14 B E X H % 1,784,008 1,784,008
15 & 52 H & 842,018 842,018
16 Bt E 1 A 29,595 29,595
17 & 5] & 150,002 112,000 262,002 - 5% & LB EHE
18 #2 A & 646,315 646,315
19 # 4 & 665,528 665,528
20 IR A 195,838 195,838
21 HT & 73,400 73,400

m A& F 10,134,977 112,000 10,246,977




O—l =it FIOSHWETFHE RMHKRFR

(BGL:FM)
il B fHIERTDEE| 4 IE %8 & HEBEOELAR
1 & & 7 80,580 80,580
2 % = 1,295,676 56,620 1,352,296 55 & L MTiEEER
3 R % = 3,682,483 3,682,483
4 f % = 853,738 853,738
5 % & = 2,745 2,745
6 B M K E X & 56,340 56,340
7 B I & 549,989 549,989
8 = PN & 931,538 931,538
9 H ;] = 328,756 328,756
10 #% ] = 1,210,624 1,210,624
nm K F # B # 0 0
12 2 & & 537,022 537,022
13 & 2 H & 585,486 55,380 640,866| - —MHBAEELE IS
14 % ] = 20,000 20,000
A = 10,134,977 112,000| 10,246,977




